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&ample: Correct Method: O @ CO Wrong Method: & @© P

J

Answer afl the questions / T4Y 514 & SRS/
TS Ted $E wie /T yuEdT ST RATEN

Choose the correct option /& T T T B /
e Geals vie w4,/ Wi fmeumy o TR

. The term ‘ecology’ was coined by =

(A)A. G. Tansley (B) Ernst Haeckel (C) Aristotle
PGS *Fw (b IS FAH=
(A) @-T& B (B) WIT% &7+ (C) S5If0=
Ecology 9Tt SiHarell &1 ~
(A) A. G, Tansley (B) Ernst Haeckel (C) Aristotle
. Radiantenergy is converted into potential energy by —
(A) Consumers (B) Decomposers (C) Producers
WA et aeirsie wE FEefers ikas @ -
(A) A (B) Rearere (C) BesiwT
At Itens Rl SWMT FHer gk TS ?
(A) STHHIES (B) SqUECHBRIES  (C) IUCHED
. Blue revolution is related to —
(A) Fish farming (B) Milk production (C) Fruit production
Tt Re @ AL TS -
(A) W1 BT (B) 74 Sesima (C) o1 Teotind
et sfea T Fraf-ead 2
(A) 7T Gl (B) 34 IR (C) el ITaTE

1x80 =80

(D) Linnaeus
(D) ol

(D) Linnaeus

(D) All of these
(D) FRITAR

(D) fries |

(D) Vegetable production
(D) & Geoime

(D) ATTe Seure

Turn Over
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4. Which of the following is the best eco-friendly alternative fuel?

(A) Diesel (B) CNG (C) Coal (D) Petrol
R e Tiie? offe IR R gie -
(A) e (B) CNG (C) T7 (D) (oI
AT o 1S e TRA-3gget forpeq St & ?
(A) fe&aat (B) CNG (C) PigeT (D) Sgret
5. Zooplanktons are —
(A) Floating plants (B) Floating insects (C) Floating animals (D) None of these
- 2ED 27 -
(A) ST T (B) ST *io% (C) S &M (D) @IA(6g 7
Zooplanktons & &7 ?
(A) R FRaREs (B) IR HRED
(C) TR Ae® (D) R g uf e
6. Which one of the following is India’s first National Park?
(A) Jim Corbett NP (B) Jaldapara NP (C)'Gir NP {D) Gorumara NP
frpa @A e etefs SIS Buie —
(A) for= zacm (B) TEWI#HT! (€) Fm (D) sigea
TeAPTE 1 AT W) ufeat s Seg & ?
(A) T PRaE ey ST (B) TASTTST ey T
(C) R Tftey S (D) TREIRT T SEH
7. Typhoid, Cholera and dysentery are diseases that are spread by —
(A) Air pollution (B) Water pollution (C) Noise pollution (D) Use of pesticides
BRI, I, SIHT @R (it BfYTH g R i -
(A) I (B) ST (C) *Fa=el (D) FOAXF FIZE
TTEWIES, E97T (Cholera) 3 ATt ITe et HANS 2
(A) TR T (B) St SIguuT (C) eaf=¥ a0 (D) PICTIHETH! T
3. The Wildlife Protection Act was passed in —
(A) 1952 (B) 1962 (C) 1972 (D) 1982
0 2R I N2 A T -
(A) 1952 (B) 1962 (C) 1972 (D) 1982
SRISITON R&IT T GooF T AT TR &7 2
(A) %42 (B) 1%&R (C) 1R02 (D) 9%¢R
9. Symbol of WWF is —
(A) Tiger (B) Red Panda {C) White bear (D) Giant Panda
WWF-43 & 2o —
(A) N (B) &I “Net (C) Fwi-SiFgR (D) eyt
WWF-3I Tl 81 2
(A) STE (B) JATUST (C) Jar 1] (D) faemeamosT

1191_4A b
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10.

11.

12.

13.

14,

15.

The complex network of inter-connected food chains is called —

(A) Food Web (B) Food Network

AGSCEE TGS Toe HE(P o1 2 —
(A) et (B) AMFREAIE

TRER-SIET T SRaAEw®] Sfee Slelell§ P W5 ?

(A) T SiTet (B) @Y ST

Which is the most common gas released from the landfills?

(A) Carbon monoxide

(C) Hydrogen Sulphide

FMRF (A TR AR @i s fsfe =z -
(A) FHEA-CAHZT (B) fnem

Landfills- a1e TeRUre: P A Rk ?
{A) Carbon monoxide (B) Methane

Solid Waste Management includes —
{A) Collection (B) Disposal
Toe1 T80 RN TG E T —

(A) Mz (B) Srertae

I IR cqaENIel THCD —
(A) TU8 (B) fAuerm

Causes of desertification are —

(A) Forest destruction  (B) Overgrazing
SR Pl (D —

(A) SRR (B) Wl “repac
T AT HRUE® & -

(A) 99 f=meT (B) 31fey wRoT

Montreal Protocel is related to the —
(A) Global Warming
(C) Ozone layer Depletion

TG i I T =1 -

(A) R-Smepm (B) Efei= T
Montreal Protocol T8 s ar —

(A) faer S (B) ReR fepmer
Micro-consumers are —

(A) Lion (B) Lizard
e @@= ¢

(A) Brz (B) Blle

GeH IUHIhIE® &1 —

(A) Ris (B) SURY

(C) Trophic levels (D) Food Pyramid
(C) ~fea (D) ¥-frafare
(C) Trophic levels (D) @I fRIfs
(B) Methane

(D) Carbon dioxide

(C) TT@E AFFRE (D) FHA-TR-IHZT
(C) Hydrogen Sulphide (D) Carbon dioxide
(C) Recycling (D) All of these

(C) =R (D) TSR

(C) TFdT (D) Rrfeeed 93
(C) Salinization (D) All of these

(C) TRArE=e (D) et oo
(C) FFa=T (D) ey &3
(B) Sustainable Development

(D) Food Security

(C) ST&F SR SR (D) I fHaetel

(C) S TAGDI g% (D) TIed GRaT

(C) Bacteria (D) Hawk

(C) TRRTA (D) =R

(C) Sframy (D) a1
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16. The polinted gas emitted from burning of crackers —

8C

17.

18.

19.

20.

(A)NO, (B)N,O
TowRifEr (A st ATHIS S T ~
(AYNO, (B)N,O
TP Fepraal Iea—T g Hoft = —
(AYNO, (B)N,0

‘The Red Data Book’ contains information about —

(A) Plant Species
(C) Economic important Species

‘@ (OBl 32 T AR v (7 -
(A) Tfgw a=ifs
(C) TdteT wwgo emife

“The Red Data Book”- AT 3 @1 qUiH &6 ?

(A) IR ToIES
(C) arife ST e FRafiEs

Asiatic Lion is found only in —
(A) Gir Forest
(C) Kaziranga National Park

@fmi kg (et Ahedl T -
(A) P sy

(C) Fferrel =g Twpie
ufdrely e FEf 71 Ut 2
(A) frew

(C) i UfteT ST

“World Water Day’ is celebrated on —
(A) May 22 (B) June 05

o wetfwa i 331 2 -

(A) May 22 (B) June 05
Iy W Raw sfeer 77go ?

(A) 7% R (B) §7 04

In ecosystem, energy production is maximum at —

(A) Decomposer Level
(C) Primary Consumer

g ¥ BeAM T @ =W —
(A) Raes S

(C) 2T 4T T

URGT AT Qfth STEA S AT 0 ?
(A) femaoR &R

(C) SIS STHIHT

(C) 80, (D) O,
(C) SO, (D) O,

(C) SO, (D) O,

(B) Animal Species
(D) Endangered Species

(B) &t z=ife
(D) o1 2erife

(B) Sivg] SATRIES
(D) THITT: TTTES

(B) Manas National Park
(D) Sunderban National Park

(B) I+ &S Twgia
(D) FHEI SO Swi

(B) 9 ST I
(D) xR e T

(C) March 22 (D) April 22

(C) March 22 (D) April 22

(C) 7 R (D) 3T 2R

(B) Secondary Level
(D) Producer

(B) ¢l &L=
(D) ST BTA

(B) F=8 &R
(D) STEH
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21.

22.

23.

24.

25.

An example of natural pollution is —
{A) Forest fire
(C) Volcanic eruptions

G ARFoF TR Sl 2o -
(A) RRIE

(C) eI wesiis

TRPfoTdn FEURDT TeT JETERU &l —
(A) SRTETHT STt

(C) SareTedt favpre

Medha Patkar is associated with which movement?

(A) Chipko Movement
(C) Silent Valley

e “TFR (FI T T IS e —

(A) oot ST (B) Twt ABte SHTwE
AT QTN T STFRIETAIT T -4d 5D ?

(A) Ry sarer (B) =T qEITa I
An aguarium is an ecosystem.

(A) Aquatic (B) Self-regulating
{0 ST 2o G |

(A) T& (B) =-frafee

TIST RIREFT §t U aRa=6 ?

(A) SeftT (B) TfeRifere

Zoos are an example of —

(A) In-situ Conservation

(C) In-vivo Conservation

futamt Fiom Brrse -

(A) T-0

(C) T-fore] wae

RIFEIRGTT 2 P ISTEROT BT ?

(A) TIRIT RGN

(C) In-vivo F&I0T

HIV is not likely to be transmitted by —
(A) Sharing needles
(C) Blood transfusion

s Gt elfesar HIV A g8 =t —
(A) 992 b AT FACE

(C) TSWITTR NG

HIV GFae: Sest o ?

(A) S TSR AT

(C) T transfusion

(B) Natural organic decays
(D) All of these

(B) AFFI FIS (GTH
(D) <t 30

(B) Narmada Bachao Andolan

(D) None of these

(C) TS Sl (D) B2 T

(C) Silent Valley (D) P ufT &g

(C) Artificial (D) Both (A) and (C)
(©) T (D) (A) &% (C) ToR
(C) P (D) (I (O F

(B) Ex-situ Conservation
(D) Ex-vivo Conservation

(B) @F-Bi sz
(D) «3-foret T

(B) TRUT GE0
(D) Ex-vivo T=&ur

(B) Breast feeding
(D) Shaking hands

(B) FIRTT oA FANH
(D) FIHC TG

(B) g8 AT
(D) &7 Feder

Tiiritr § Wer
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80 26. The phenomenon of marble cancer is due to —

(A) Acid Rain (B) Soot particles (C) CFC (D) Fog
SR IR Tl (Bl Rraaf® il -
(A) I=JE (B) SCarel (€ F. 9w, &, (D) M
Marble cancer-T BT &6 FRT §S ?
(A) 37T T (B) &A= (C) CFC (D) Pl

27. In grassland ecosystem, the pyramid of energy is —
(A) Inverted (B) Upright (C) Mixed (D) Either (A) or (E
wefim e e Fraifie & @ -
(A) Tl (B) S (C) firfére (D) (A) ¢RI (B)
eIt AR ST RIS P! 570 2
(A) e (B) Stem (C) Pl (D) (A)3rT (B)

28. The Environment Protection Act was enacted in the year —
(A) 1986 (B) 1996 (C) 1984 (D) 1976
AfFTa I wign enfers 27 -
(A) 1986 (B) 1996 (C) 1984 (D) 1976
TRITIROT HREFOT U AT Qe AT —
(A) 9%¢% (B) 98%% (C) 9%¢% (D) 9Rju%

29. Number of biogeographic regions in India are —
(A) 16 (B) 18 (C)8 (D) 10
TSI FOATE SFCSAN T NG 9
(A) 16 (B) 18 (C)8 (D) 10
TRATYHT AT Siaelew Hicaer B 2
(A) 9% (B) 9¢ (C) ¢ (D) 90

30. Which-commission first introduced the concept of ‘Sustainable Development’?
{A) Brundtland Commission (B) Kothari Commission
(C) Hunter Commission (D) Mudaliar Commission
I RM 2w GF52, SRIAa 4R (ol —
(A) PTG FHRFE (B) @i FHma
(C) =oR FfE (D) wiferia SHm=
T STRITTCY TR (TS forepTerep! SAERUIT TRe(eT Tt 2
(A) Brundtland 3TaRT (B) PIORT AN
(C) TE AT (D) Mudaliar 3TGRT

31. The first International Conference on Environment was held in —
(A) Rio-de-Janeiro (B) Johannesburg (C) Stockholm {D) New Delhi
ST oIS e fRnA wieemis @ e 2eafes of 2 -
(A) Rre-fo-forat (B) ceitgarnsf (C) F5Ftam (D) frefd

gt ‘International Conference on Environment’ @&l W@t oy 2
(A) Rio-de-Janeiro (B) Johannesburg (C) Stockholm (D) New Delhi



UG/CBCS/B.A./1st Sem./Environmental Studiess AECCENVS/2023

32.

33.

34.

35.

36.

37.

Silent Valley is a part of which hotspot —

(A) Western Ghat (B) Eastern Himalaya

(C) Indo-Burma region (D) Sundaland

AIEETOCIER (1 25~5-a7 or@sfe —

(A) #Foai (B) *&-Rem (C) Zomiant (D) Sundaland
Silent Valley T Hotspot B 9T A 2

(A) ufssft e (B) qdifar feurer (C) ART-THT T4TT (D) Sundaland
Which of the following is a secondary pollutant?

(A) PAN (B) SPM (C) SO, (DYNO,

e @ e w3 ¢

(A) PAN (B) SPM (C) S0, (DYNO,
TABTE o7 TS 0T TG &1 2

(A) PAN (B) SPM (C) SO, (D) NO,
Development but not at the cost of environment is called —

(A) Economical Development (B) Sustainable Development

(C) Political Development (D) Social Development

‘sifara F% 03 Tafe T @7 e -

(A) TffsTF S (B) a1 Sram (C) AT Tmw (D) if&s S
faeprer TR qafeRUIeTs T8 WY Bges 98 ?

(A) i ferapter (B) Titor ferarar (C) Tfora fermTer (D) Smfe feeprer
Minamata Disease is associated with —

(A) SO, {B) Mercury (C)NO, (D) Arsenic
farist st eiiba i s —

(A) SO, (B) #iam (C) NO, (D) I
foTeTeT I & R geataa v 2

(A) 80, (B) Mercury (C)NO, (D) Arsenic
Increase.in atmospheric temperature due to CO, is called —

(A) Pasteur Effect (B) Greenhouse Effect  (C) Emerson Effect (D) Blackman Effect
CO,~47 T+ IS DIl et 7T —

(A) *IEq 9 (B) A7=i®n @t (C) QT TTE (D) FFh G
FTAT STGITATZS TIfeaT ATHUSTDT ATIh JFgens & e ?

(A) Pasteur Effect (B) Greenhouse Effect  (C) Emerson Effect (D) Blackman Effect
The resources that can be replaced by natural ecological cycle is called —

{A) Renewable (B) Non-renewable (C) Exhaustible {D) Natural
AiFfow sfEre=ere ber T AfSze wat @rs «Ata @ sm orF e -

(A) TR (B) SRR (C) =g (D) &FTeT

Mepfors TIRR=IRISIT TpaRT IfReToT § GaTegHals & A s ?
(A) TBRIORT (B) 3T-TATpiORy (C) e arg (D) WPl
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38.

39.

40,

4].

42.

43.

DDT is —
(A) Non-biodegradable pollutant
(C) Degradable pollutant

(B) Non-pollutant
(D) Biodegradable pollutant

(B) = 14

(D) AT TIF

(C) TErIa T (D) SR I
(C) Drought (D) Global Warm
(C) =i (D) 3 Term
(C) Tsd (D) 8 FTe
(C) Landslide (D) Road acciden
(C) # (D) 3T 7Bl
(C) wretrgy (D) & gheT
(C)7.0 (D) 10.0

€70 (D) 10.0

(C) 6.0 (D) 90.0

(C) Sea and Land (D) Sea and River

DDT & —

(A) F-AaeT 7%

(C) Rrarres= e

DDT-$ 8 ?

(A) SN IS9P (B) -5
Deforestation generally decreases —

(A) Rainfall (B) Soil erosion
SRR A4S TH I -

(A) PRt (B) et
FRTTRT ARV & GENS 7

(A) Tt (B) ATeY &R00
What is an example of man-made disaster?
(A) Flood (B) Drought
TR grfieom Srige e —

(A) 301 (B) ¥t
AFafT R TIeT IaTERm 8 <

(A) (B) @S

pH of acid rain is —

(A)55t07.0 (B) less than 5.5
JHYBCS pH-4F Y —

(A)5.5QF 7.0-99 WY (B) 5.5-93 39
3T ! pH & -

(A) 44y3Ra .0 (B) 4.4 7T B
Mangrove vegetation is observed at the junction of —
(A) River and Land (B) Lake and Land
AT TG (TS NS T —

(A) T 8 FHT TS FieA

(C) 7T @ TFT g B

I TR 3 BT T TS SETUIED ?
(A) 7S A T (B) TRERT 3 T
Which is a plant disease?

(A) Typhoid (B) Chlorosis
Tferea «afb ot =21 -

(A) BITFTTT (B) G

T TE FeIafarepT T 2 2

(A) Typhoid (B) Chlorosis

(B) T 8 TER TELS BA

(D) TR 8 TR LS| B

(C) T3 A i (D) Tz 7
(C) Fluorosis (D) Cholera

(C) FrAIbm (D) T

(C) Fluorosis (D) Cholera
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44. Which of the following causes cancer —

(A) U-V rays (B) Sunlight (C) Air pollution (D) All of these
v @l I @bt FREFE -
(A) U-v 7t (B) (C) AT (D) ¥Rz
TAGTEY &F o FHS W RS 2
(A) U-V o (B) G fbom (C) argreyur (D) RriieeTed 99
45. Vermicompost 18 —
(A) Organic manure (B) Bioinsecticide (C) Biogas (D) Fossil Fuel
Sififer==ivG 2= —
(A) =3 W4 (B) AR (C) TS (D) SR gl
TASUHSA & & ?
(A) SAfdpAer (B) Sghrerad (C) A (D) Fossil Fuel
46, ‘Blue-baby Syndrome’ is caused due to —
(A) Phosphate pollution (B) Chloride pollution
(C) Sulphate pollution (D) Nitrate poliution
@3 e @miba el =1 -
(A) TTTS 779 (B) PRI 739 (€) AETEE 779 (D) FZCAT w3l
“Blue-baby Syndrome” % & TRISS ?
(A) Phosphate 98U (B) Chloride Hgsr (C) Sulphate U (D) Nitrate qgu0T
47. During photosynthesis which of the following gas is released?
(A) Methane {B) Nitrogen (C) Oxygen (D) Carbon-di-oxide
ANATHCHTRE A I s fefe =2 -
(A) g (B) FZLBICE (C) TS (D) FHA-TI2-SRC
LT A o AT S0 &9 2
(A) Methane (B) Nitrogen (C) Oxygen (D) Carbon-di-oxide
48. Energy flow in ecosystem is —
(A) Unidirectional (B) Cyclic {C) Multidirectional (D) None of these
ey *fee Iz -
(A) @A (B) 5= (C) T (D) 4R (FIAHE 7
UREHT 91k 987 Bl §75 2
(A) TR~ (B) afhad (C) T3 (D) 1 o B5T
49, Ramsar Convention is related to —
(A) Deserts (B) Wetlands (C) Agricultural lands (D) Forest land
AR ST @A A TS ¢
(A) =g (B) woTgf (C) TR (D) T

Ramsar Convention- & @ T =ad © ?
(A) T (B) Rreriyey (©) Prnpht (D) g



LIt
8(

UG/CBCS/B.A./1st Sem./Environmental Studiessf AECCENVS/2023

50.

51.

52.

53.

54.

The main component of ‘Biogas’ is —
(A) Nitrogen (B) Oxygen

THR- SR SFT S T -
(A) BT (B) SI3ICE

Biogas- Eﬁ’fﬂﬂ'@ H&P 8l -

(A) Nitrogen (B) Oxygen

The causes for flood in the plains are —
(A) Removal of plant cover
(C) Deposition of sediments at river basin

TR T FEdl 7 -
(A) Sfere TomiRd
(C) 7% waifemt e A

The ocean covers of the earth’s surface.

(A) 51% (B) 61%
TP #A%R T R SO Gy AL ?

(A) 51% (B) 61%
TIREPY BRY HRISTRT T T Gben! B 7
(A) 49% (B) £9%

Primary consumeris also called —
(A) Herbivores (B) Carnivotes

eiiefiRs W o) (@ i Ao -
(A) el (B) WA

Treifie SRS 3 i 9 S ?
(A) ATPTERY (B) 9HEER

The ‘Earth Summit’ was held in the year —
(A) 1990 (B) 1992

PP T (I TR (0 T 2
(A) 1990 (B) 1992

“Barth Summit” T TTEPT T 5 2
(A) 9380 (B) 9%%2

(C) Methane (D) Hydrogen
(C) fnaw (D) L@ITHH
(C) Methane (D) Hydrogen

(B) Soil erosion over hill slopes

(D) All of these

(B) AL Gite e

(D) Sl =l

(B) &I AT ATEIT 4R0T

(D) Refieewed 99

(C)71% (D) 91%

(C) 71% (D) 91%

(C) 99% (D) R9%

(C) Omnivores (D) None of thea!
(C) g (D) 473 @102
(C) TRt (D) 3 afr B

(C) 1989 (D) 2001

(C) 1989 (D) 2001 .

(C) 93¢ (D) 2009 i
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53,

56.

57.

58.

59.

Endemic species are —

(A) Rare species

(C) Cosmopolitan in distribution
B eefs = —

(A) = ewifs

(C) Tewaiv e

Endemic WS1fere® g-

(A) T ATl
(C) FEA U1 Ty

Aquatic life is damaged by —
(A) Sound pollution
oS Sae [ 2 (@ E aiEl 9

(A) *RarEd (B) oI 3
STefir WMaTers &fer T aea-
(A) A Ty

The biggest nuclear accident occurred in —
(A) New York (B) Bhopal

(B) ST 9Sm0T

TR e T iR, i ot 7@ -

(A) e (B) g

F Svae GHeT e qua! R 2
(A) New York (B) Bhopal

The lowest layer of atmosphere is -—

(A) Mesosphere (B) Stratosphere
AR AR B3 (T 2

(A) G (B) ZRGIFrE
RO TV P! g 81 2

{A) Mesosphere (B) Stratosphere
Coral reefs in India can be seen in —

(A) Himalayan Region

{C) Uttar Pradesh

SIFST a2l (TS e WY —

(A) AT S

(C) Tageimae

IR Coral reef H8l SEAIES 2

(A) fRHTett &

(C) R

(B) Therma! pollution

11

(B) Species localised in a specific region
(D) Critically endangered species

(B) @b awif® 1t fiftR s st A
(D) fe1e aeife

(B) FfEw armermr 9 arg s
(D) Critically endangered FTRY

(C) Air pollution (D)Allof these
(C) g 7T (D) aT7A FRIHL
(C) 97 Hmor (D) Rrfewme a8
(C) Chernobyl (D) Beijing

(C) o= (D) e

(C) Chernobyl (D) Beijing

(C) Troposphere (D) Tonosphere
(C) (RisiPeaa (D) SEIRFa
(C) Troposphere (D) Ionosphere

(B) Andaman and Nicobar Islands
(D) Western Ghats

(B) TN 6 i At
(D) ~f3IIT

(B) 3FHI 31+ fAepTer dTaae
(D) utendY are

Turn Over
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60. For which animal Sundarbans is declared as a National Park?

(A) Lion (B) Rhino (C) Tiger (D) Wild ass
@I 2R T THERE IO S ST (ST AR 2
(A) PRz (B) s (C) AN (D) 3+ St
GrERETETS G Sw) TReET 1 ST Bt TR & 7
(A) 88 (B) Fer (C) 1" (D) ST e
61. Which of the following is an extinct species?
(A) Tiger {B) Lion (C) Dodo (D) Ostrich
o @b fog owife ¢
(A) A (B) P (C) TSl (D) THailfR
AT G AT T Srorfer 8 2
(A) T (B) Rtz (C) et (D) sifg
62. Hot spot is related to —
(A) Niche (B) Ecological Pyramid
(C) Biodiversity (D) Ecological Efficiency
Hot spot (AR 0% AT -
(A) e (B) e Prife
(C) Eaivar (D) ArEeifi simixfel
Hot Spot % R Faf-aa © 2
(A) Niche (B) Ecological Pyramid
(C) Biodiversity (D) Ecological Efficiency
63. The cause / causes of' biodiversity loss is —
{A) Habitat loss (B) Poaching of Wildlife
(C) Over-exploitation of bio-resources (D) All of these
G SR FiEe 29 — |
(A) IPTECH &H (B) T TSl
(C) T8I 07 Wi = (D) “T7d FRHE
Safafaree &fpT RO / PRI & - |
(A) Habitat loss (B) Poaching of Wildlife ‘
(C) Over-exploitation of bio-resources (D) frfemr 59
64. The intensity of earthquake is measured in — |
(A) Decibels (B) Linnean Scale (C) Richter Scale (D) Linear Scale¢
gfEree Sl Wl = -
(A) (ORI (B) f&rfrm Gt (C) 7o (3= (D) i caee
TETTGID ST AT AIGS ?
(A) Decibels (B) Linnean Scale (C) Richter Scale (D) Linear Scal
|
|
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65.

66.

67.

68.

‘Algal blooms’ are connected with —

(A) Biomagnification (B) Eutrophication (C) Trophic levels (D) Producers
Ce\aTIIR oIS SfEPTR e iR 2 -
(A) ACTERFETR  (B) 2ORFEE (C) AMmeR (D) A
“Algal blooms” ¥ Ry FAFUT & ?
(A) Biomagnification (B} Eutrophication (C) Trophic levels (D) Producers
Extensive planting of trees to increase forest cover is called —
(A) Agroforestry (B) Afforestation (C) Deforestation (D) Social forestry
T I Srmeel) RS FHRCNPNP 1 —
(A) PRI (B) TG (C) T (D) AR Ferper
SRR SITa gSTa@! Ffee R feRa gaRIoes & wiHs ?
(A) Parihr (B) g&Ra (C) T (D) FrTRTERaTEhT
Core zone’ and ‘Buffer zone’ are found in —
(A) Biosphere reserve (B) Wildlife sanctuary
(C) Reserve forests (D) National Parks
‘(@R (A GR ATR (@ T -
(A) ITAFFIR Fee (B) ST AT ST
(C) fwie =D (D), A= AR
Core zone 31 Buffer zone &l U575 ?
(A) SIS TSR (B) TS IIRTT
(C) STRET & (D) i I
Which of the following is the most pelluting source?
(A) CNG (B).Coal (C) Petrol (D) Diesel
e eyt TR Bt @Ak
(A) CNG (B) Tw&! (C) (IR (D) Trer
TBTHERY T 1T FGHUTPT FHT et AT & 2
(A) CNG (B) P (©) v (D) fsorr
. Rain water harvesting helps in —
(A) Increasing Silt deposition (B) Reducing run-off
(C) Avoiding flood (D) Both (B) and (C)
R 2if (o) RIS DAY T —
(A) TR T T FAS (B) ST B I
(C) T forae e (D) (B) 9 (C) TeIR
TIoIeT HUSRUTEY FERI 76 ?
(A) T fFrérqorent agmar (B) Runoff- T &} =471
(C) e TuS (D) (B) & (C) §
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70. Kaziranga National Park is situated in —
{A) Assam (B) Rajasthan (C) Kerala (D) Chhattisgarh
Fiferie! weT S0 TS —
(A) ¥ (B) ATER (C) G (D) 2
PRI TR I el AT B 2
(A) 3T (B) TSTERAH (C) PRI (D) BTS
71. The efficiency of energy flow in the ecosysiem is about —
(A) 8% (B) 20% (C) 10% (D) 1%
JrgeTER e A e T
(A) 8% (B) 20% (C) 10% (D) 1%
GRS S VAT SeaT . Wil e 2
(A) 8% (B) 20% (C) 10% (D) 1%
72. The gas released during Bhopal Gas Tragedy —
(A) Methyl Isocynate (B) Ethyl Isocynate
(C) Propyl Isocynate (D) Potassium Isocynate
g A O I I S fPefs zarfeet -
(A) FrliZsT SIRETFIRAD (B) 22T ARGIARGE
(C) G@1#ifZe SIEHAMIED (D) BRI AR
yTe IRy AT e FiReyet ard-
(A) Methyl Isocynate (B) Ethyl Isocynate
(C) Propyl Isocynate (D) Potassium [socynate
73. The activities that are undertaken in wasteland reclamation are —
(A) Polluting the land (B) Restoring and improving soil quality
(C) Creating more landfills (D) Encouraging deforestation
w6 G ZFeEaicEEa e 2MeFe] g P 2R ~
(A) G fzre w4l (B) Sfeia st 41 @k YETH 7R
(C) Fefre-«a #/fie 9fa i (D) FHEzAS TlfRS F
Wasteland reclamation- BT e JTSTI FAIeES-
(A) SIS TN T (B) FET! TORTE TS A eI
(C) B landfill ST TATT T] (D) TS SIS
74. Which animal is worshipped by Bishnois of Rajasthan?
(A) Camel (B) Lion (C) Black buck (D) Tiger
AR sl @W 2 o FE -
(A) B (B) Pr2 (C) T 2R (D) 4rd
W@m fsigatel 3T STl gt T ?
(A) 3¢ (B) i (C) Black buck (D) a9
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75. Elephants are usually hunted and killed for their

76.

77.

78.

79.

(A) Nails (B) Skin

@ 69 T S HTE 9 T WS -

(A) 4 (B) ofret

Trderd e 3 B Ffea RieR e 717 2
(A) 7F (B) BT

Gorumara National Park is famous for —
(A) Red Panda (B) Snow leopard

sRFaEl SO S e S RS -
(A) RS (B) gaafoet

TRFRT e ST & i FHfect IR & 2
(A) X TTUST (B) for forggar

(C) Internal organs (D) Teeth
(C) TeTBA o= (D) WS
(C) P 3iTEs (D) afd
(C) Rhinoceros (D) Bear
(C) At (D) ORI
(C) et (D) w1

The major objective of family welfare Programmes in India is —

(A) Disease control
(C) Employment generation

SRS FIfER T TR T S 2E —
(A) o Forgael
(C) FPrER R

TRATET URAR HET0T FIoHTnT IE 9529 $ 81 2

(A) 3T feror
(C) TUSFIR ForT

Agenda-21 is related with —
(A) Kyoto Protocol

(C) Earth Summit

GTESI-21 AR X TS ~
(A) RAH 2BT=

(C) &l [t

Agenda<21- & [T G=ea & 2
(A) Kyoto Protocol

(C) Earth Summit

The highest dam in India is

(A) Tehri (B) Bhakra-Nangal
SRS Wfon Ay =7 —

(A) o2ifa (B) SIFA-@w
YRATeDT G IFAT ST P &1 2

(A) ezd (B) T&RT e

(B) Population growth rate conirol
(D) None of these

(B) SePr i e =9 e
(D) @IAHE 7

(B) SR Jfgmeep! =
(D) P uf BT

{B) Montreal Protocol
(D) Johannesburg Declaration

(B) &= (RABIFE
(D) RIS carelisia

(B) Montreal Protocol
(D) Johannesburg Declaration

(C) Sardar Sarovar (D) Hirakud
(C) Hia AR (D) &argw
(C) TRER TR (D) g



UG/CBCS/B.A./1st Sem./Environimental Studies/ AECCENVS/2023

80. Primary sources of nuclear pollution —

e L

(A) Solar panels

(C) Nuclear power plants
AR TR etiefsRe Be & ¢
(A) CTF 2FiCeet

(C) “tizeRe »fes Seotwe (v
3o FgEOTeRT STeHfHep 71T & -
(A) Solar panels

(C) Nuclear power plants

(B) Wind mills
(D) Hydel power plants

(B) IS
(D) TR (e

(B) Wind mills
(D) Hydel power plants



